ASSEMBLY INSTRUCTIONS

ITEM NO.:37897/37887/37917/37097

govw— 270;0-(#

/

Do not tighten screws until completely assembled.

PAGE 1 OF 7




PARTS IDENTIFICATION

Il
govw— 'Uf);ﬂ-(ﬂ 7

pi

PAGE 2 OF 7




PARTS IDENTIFICATION

h
A : Left 1pc 1pc
B Right 1pc 1pc
C 3pcs
l
%
I 1pc
E / 1pc
\ Middle 1pc
Bottom 1pc
F 1pc
1pc
1 3
M6x15 32pcs| M6x35 12pcs| M6x35 2pcs
4 5 6
4x4 @ 1pc | M4x37 1pc 2pcs
7 8
% 1pc 1pc
‘\H\\HH‘HHUH\‘HH\HH‘HH\HH‘HH\HH‘HHUH\‘\H\\HH‘\H\UH\‘H\\UH\‘HHUH\‘HH\HH‘HHUH\‘HHU\H‘\\HU\H‘HHU\H‘HWH‘
0 10 20 30 40 50 60 70 90 100 110 120 130 140 150 160
Units (mm)

PAGE 3 OF 7




STEP 1.

STEP 2.

12pcs

PAGE 4 OF 7




4pCs

8pcs

16pcs

(5

M6x15

1pc

PAGE 5 OF 7

i2

A\




STEP 5.

4pcs

M6x35

\
/ (=)
\
\
\
// =)
\ =
\ \
\
\
\
\ \
% >2ron —ooDw \ \
/=

STEP 6.

%YR\QD —voow

PAGE 6 OF 7



SCREWDRIVER

I I O I I = (NOT PROVIDED)
]
I =
[ [ 7 5
] M4x37 1pc
6
1pc
7
1pc

STEP 8.

coww— 17027-(#

i

To Prevent Tip over
Product Must Be
Attached To Wall

BN
1pc

PAGE 7 OF 7



	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (1)
	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (2)
	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (3)
	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (4)
	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (5)
	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (6)
	37897 37887 37917 37097  CAP1171 二代货柜电脑桌+层架+USB说明书 Model (7)

